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ECONOMY AND DEVELOPMENT

According to Rangarajan Committee 2014, the

poverty line is defined as per capita expenditure

of :

(1) 52 forrural and ? 67 for urban areas

(2) T 42for rural and ? 57 for urban areas

(3) T 32forrural and? 47 for urban areas

(4) T 22 for rural and X 37 for urban areas

doromad E4, 2014 D5 8o 808 e’ Jad

V0  Dgatre  w@rorr GO dan

QdgVoSE0 20h0d ?

(1) o (Frosed® &r. 52, o |roerect
dr. 67

¥2) (Do (Foeredt §r. 42, doo | doered’
4. 57

13) rde @oecdt &r. 32, op | Froered’
&~ 47

(4) (T @Foered’ dr 22, oo |Foered’
&r. 37

The people with lower incomes when compared
with higher incomes, even when their standard
of living is above subsistence level, are said to be
in:

(1) Absolute poverty (2) Relative poverty
(3) Rural poverty (4) Mass poverty
20036708 Yow0dod o &S Ireo €
Q-ons DOV SIYD ©ES vordiw Ao
Rred FO Ry wo) vordbres e o
808 ¢ O pBC* doirs ?

) ACWE W0%0 (2) 9 Lsbgo
(3) |rdo WSBS0  (4) IS Lo

Which of the following programmes are covered
under the ‘National Food Security Act, 2013' ?

a. Mid-day Meal Scheme

b. Integrated Child Development Scheme

c.  Public Distribution Syst'em

d. Buffer Stock Management

280D WSS FBe* So 2013 808 2 [b;&is
S Eg|Sires g sren DolScbaderos ?

a. degim 2328 8%o

b. Xab¥)s eree ©HH)a Mo

c e doud Sy

d. 296 §'§ IS

(1) a,b&c A2)
(3) c,d&a (4)

b,c&d
d,a&b

4.

Consider the following statements relating to
Mahatma Gandhi National Rural Employment
Guarantee Act

a. 100 days of mandatory employment should be
provided to rural job seekers.

b. Equal wage rates should be paid to male and
female workers.

c. One third of the beneficiaries should be women.

d. Employment should be provided only to the
people below the poverty line.

Which of the above statements are correct as

per the MGNREG Act ?

Qfem) Mob 2 8ad (Mado a1 D SIS

vowodoTw Sod a*smgolﬁ: Adosod

3. 2.8 VoH&Y80L* Ao 100 &ere IS5 63O
§0yo0.

b. &N,@&bbo&iﬁrfa;‘&&n& BDoD.

C. G XY ogo'dng‘ Lrdd Hod Lrdew .3:)‘6_
soaed.

d. o0 sy % 8Kd oY) e WSS
a>Q 800D,

Bl a'slpgbé‘ & I8 VowoQoD :DZ)‘.:)Q& ?

{1) a,b&c (2) b,c&d

(3) c,.d&a (4) d,a&b

When a country enters a recession, many jobs
are lost. This situation is called

(1) Frictional unemployment

(2) Cyclical unemployment

(3) Seasonal unemployment

(4) Disguised unemployment

28 S4o Trodg V0PI WV D T
Ay wodsTw S D00, 808 Tt
sabod V3 28 ?

A1) pEere A1 (wgw) Dd!é‘gné

(2) dtéoia D&Ez‘gné

(3) && Jowog AHSgNS

(4) Ebd‘)ﬁlbdas‘sné

Among the following methods,
measures relative poverty ?

(1) Poverty line (2) Lorenzcurve

(3) Indifference curve (4) Giffen paradox
808 sr8¢* I WSS 8803 1G53 DB ?
(1) ooy dw (2) or8of dw

(3) acise dw (4)  OS Sdergo
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Poverty line in rural India is defined as the mid-
point of monthly per capita expenditure class
having a daily calorie intake of :

(1) 2,400 calorie per person

(2) 2,300 calorie per person

(3) 2,200 calorie per person

(4) 2,100 calorie per person

(e P ES3% o0y Cwi Qﬁsﬂowaoﬁ

Sewd Sund Hgab SEMBY WGgy Dodsym
"i L”":h"': Lﬂ‘aéud" 2.€ Bloodh 2.8 288 Oy

sgede I RE edbo eSS0 sydod ?

(1) =¥ %g88 2,400 sVgebwn

(2) =52g8% 2,300 s*go&m

(3) =8 2g33 2,200 sgebes

(4) 2% 5g8%2,100 s*gebes

If a person is willing and searching for work but
due to unavailability of work remained
unemployed during the major part of the
previous year, he is called unemployed as per :

(1) Weekly status (2) Daily status

(3) Usual status (4) Standard status
40 dobend aisd, OB (Labéyo 30
WobE od® wBE seo wbr aocd g8
Shoerd ?

(1) 6253 2B o L'

2) Beab 0 fe Q&Sﬁ‘sﬁ

(3) For8r s fo JBEgh

(4) Lﬂ“&wdé ;-;0'3 e 35:5‘5!\

A person whose marginal productivity is zero or
when more people are engaged in a job than
actually required is called :

(1) Disguised unemployment

(2) Frictional unemployment

(3) Open unemployment

(4) Seasonal unemployment

28 $g8 abs) adrod aer B8 Pdgom aod
LOR8Y Cor 2.8 Lt wdOshady |TdHe Sod
S % wold dR ;_;a.a Dot ?

(1) @Sys desfgns

(2) Doyl (dem) MDEgNS
{3) wd=Soi .'.'deS‘Shé

(4) G&LIH WSS
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10.

11.

12.

13.

When workers have jobs, but they are not
working to their full capacity or skill level, it is
called as (one of the following) :

(1) Under-employment

(2) Open unemployment

(3) Seasonal unemployment

(4) Classical unemployment .
oD WO FHHDD s a0 8 Idhgrges

Doledabdd 88  alarNolwdy. 8o
S oy aea::ma:gaab&oa-d:?
(1) ué‘aﬁ'sné

(2) wardoif 3&5‘5!’\6

(3) eb Jomod Ddﬂgﬂé

'A) Doparad Ddﬁ‘sné

A situation where in all the available labourers,
who are willing and capable, find work at the
current wage rate is called (from among the
following) :

(1) self employment (2) Reemployment

(3) Fullemployment (4] Non employment
v at) 3o T G156 1D dobred SBEE i
3§ o o (el G vasTTw ofigo
5%G ) (808 8E°) Dot 7

(1) %eabo - adre DR SRS
(3) Vorgiaigns (4) wgns

Among the following, which state has the largest
percentage of poor in India ?

(1) Andhra Pradesh (2) Gujarat

(3) Madhya Pradesh (4) Odissa

300 T8S* J YrES ovgmo D TS0 Bl /

WWed €00 a:»;,_a ?
(1) wog@ds (2) H=oé&
(3) gdu @) &=
Consider the following pairs -

Plan Period
a. Second Five Year Plan - 1956-1961
b. Third Five Year Plan - 1961-1966
c. Fourth Five Year Plan - 1966-1971
d. First Five Year Plan - 1951-1956

Which of the pairs given above are correctly matched ?
208 edu fadodod :

o swo

a. Jodd Lodd Le=r@€ - 1956-1961

b. wwrds Dodng @@ - 1961-1966

€. dgdJoSdS e - 1966-1971

d. wd8vodad DerPE - 1951-1956
.Jaéae‘;‘b;‘)nb adm (VOD'aRdm) oo ?
(1) a,b&e¢c (2) b,c&d

(3) ¢c,d&a (4) d,a&b
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14.

16.

17.
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Consider the following pairs :

Five Year Plan Major Objective

a. First Five Year Plan — Agricultural sector
b. Second Five Year Plan  — Industrial sector
c. Eleventh Five Year Plan — Inclusive growth
d. Third Five Year Plan — Growth with stability
Which of the pairs given above are correctly
matched ?
408 adoi Sawodod,
DowHY PPl 2% efgo
S8 DoSDY [Der 08 - Hgadrad dotio
Bodd DoDY [P~ PE - 0T Sollo

LS8 0dD VoG RS - e 0d ::.)&
. RS DoShY (D 08 - 365595‘ mbﬁ

puded’ Da‘iﬁn a2 (L0DFauid) awman ?

A a,b&c (2) b,c&d

(3) c,d&a (4) d,a&b

The Fifth Five Year Plan proposed to achieve the

main objectives of :

(1) Growth and stability

(2) Growth with social justice and equality

(3) Inclusive growth and improving standard of
living

(4) Removal of poverty and attainment of self-
reliance

RED Dodal (a5 ST IS &

adwew a0 ?

(1) Posg0, B

(2) Fora28 as-;a‘boé‘ Edn ﬁ;g, waradeo

13) LpPE B8, &0 Pirere WO
5 o, oF,

(4) ax50% Qﬁ'&b}'a, gabo mﬁ»;g Sl

One of the following five year plans aimed at

achieving human development as the thrust or

fundamental of all developmental efforts :

(1) VFive Year Plan  (2) VIFive Year Plan
(3) VIl Five Year Plan (4) VIll Five Year Plan

sd) ©h5)8 pobemed’ WD edDH)BD
foXom rdod 808 F8S° J (D5 Wrdd
sD5)8 vErgR) FGoTrul Afapowod ?

(1) 5520l ferE (2) 6D VoSG (D08
43) TO0oES e 0S (4) 8 D Dodag (05
Among the following, in which plan period, the
highest growth rate of above 8 percent per
annum on an average was achieved ?

(1) Seventh Five Year Plan (2) Eighth Five Year Plan
(3) Tenth Five Year Plan (4) Eleventh Five Year Plan
208 8¢ J erdst sreod® Witis wighlorr
8 Terll W H)R0EI IRoiiko =Bhod 7

(1) 75005 @8 (2) 8500 (Lo OF
(3) 10 Do (e 08 (4) 11D o @S

19.

21.

22.

Who was the ex-officio chairperson of the
Planning Commission ?

(1) Finance Minister  (2) Prime Minister

(3) Speaker of Lok Sabha (4) RBI Governor
r@s VoirdE 5y - edlar JEENS
(e&gHer) o 7

(1) Soi& 688 o @ (2)
(3) &*Elns 286 (4)

(o o (@
mﬁ.’:s srso&t rﬁﬁlﬁ

What is ‘NITI" in NITI Aayog ?

(1) National Information Technology Institution
(2) National Institution for Transforming India
(3) National Institute of Technology, India

(4) National Innovation Technology of India
‘52 ud@rh’ v Dot 98 (NIT)) wod 2D ?

(1) FTdpd a‘:‘oaii;nﬁ Bsmedd aS.at::l'gnﬁ

(2) X :15»#::‘845 6 L@Sﬂé‘ﬁgﬂﬁ aodair
(3) Fibe aSpargs 6l Bsmed, z0dabr

(A) Fdd aF TS Bsmed vl zodd

In India, the target and actual rates of growth
during 11" Five Year Plan (2007-2012) were :
rdsdiod” LSS odD Jodnd Purds swo

(2007-12) &* 8R0S (vgorm i) woai
Sbom FGodh B)D S 2D ?

(1) 5%&5.5% {2) 7%&9%

(3) 9% & 5% (4) 9% & 7.5%

Among the following, which economist
first advocated a rolling plan for developing
countries ?

(1) Amartya Sen (2) Gunnar Myrdal

(3) P.C. Mahalanobis (4) P.R. Brahmananda
800 Uﬁ‘l"’d’jébﬁ' b SER)E Dohdiy) dro

§%0 b odd e P E.:bdﬁﬂ'db 7

pl) eddgus (2) Hans Dgd
(3) L. LiroSOD  (4) Db @wIRod

Which of the following five year plans was
approved when the country was going through a
severe economic crisis caused by budget deficit,
inflation, recession, debt burden etc. ?

(1) Fourth Plan (2) Sixth Plan

(3) Eighth Plan (4) Ninth Plan

wgs 'y, Bge w0, drodgo, & yrdo
STHD Dy EES SETO ©PE WEFY,
e BEcdio mmo& Q Lod e S
udrdoTd 7

(1) argd P08
(3) &S D@8

(2) @& P08
(4) FdES (D08

Series-AB



25.

A planning in which targets are set for a period
of 15 to 20 or 25 years and which ensures
continuity in planning is called as =

(1) Centralised planning

(2) Demaocratic planning

(3) Authoritation planning

(4) Perspective planning

15 oD 20 Eor 25 Wobd)oru STU WODBS”
FDoBOLN vFrguR JGapoHER, (e 95S*

§%hrNody (continuity) aodbey I e8|

Jwodrd ?
(1) do[8%)8 e 0¥
(3) vb)d D08

(2) Rrrdwde Ler S
(4) B0, o

Economic planning was an essential
characteristic of one of the following economies :

(1) Closed economy (2}
(3) Socialist economy (4) Capitalist econamy
808 ordd® wdf [LurP85de cEmorr SRS
S hQoTwh&es ?

(1) M(gﬁreggﬁ;ag

2) ¥ GES *.:gé:;’g

(3) Aigrd B bt

(4) m@ua.a-a ugé 'égi::g

Mixed economy

According to 1/70 Act, which of the following is
true with regard to Telangana Government ?

(1) Urban land of over 5 acres as surplus

(2) Rural agricultural land excess of 50 acres in
dry region as surplus

(3) Land transfer from tribals to non-tribals as
null and void

(4) Unassigned land given to SCs cannot be
transferred

1/70 alSego Ws*8c 8worrm  ([wEbergls

Howodod) 808 o8t :Ja::gm?

(1) 5 MHoeH Dodo Dhe b)) drbed
o DOHSTG.

(2) 50 J8ore Ln*.'fhm ﬂ)ﬁ‘ﬁ,ﬁ‘o‘ﬁ Zraby anthes
g DOHeA .

(3) AB=t»e  wou ABzdsdhe D
wdoraow) ¥ogo (Spgo 5°D)

(4) Mo adyd Spugorr S apodER
gfedD (unassigned land) e avosSE.

&

Series-AB

26.

27.

29.

Which of the following districts in Telangana region is
the poorest in 2013-14 (SRE) in terms of per capita
income at 2011-12 prices as per 'Socio-Economic
Outlook 2016’ (Government of Telangana) ?

(1) Medak (2) Mahabubnagar

(3) Adilabad (4) warangal

8uome  Jared ugé Ogc 2016 (8eormrm
[(xb¥e0) (Dm0 201112 (Bl S  worabo
sordo 2013-14 (Sodkh Yawosorw) &° oo
L:}-oéoé' 808 8S° ©d I58E 20 B ?

(1) 285 (2) Sdrer-SHKb

(3) wberers Aa) Sboke

Jurala Irrigation Scheme Stage-l was meant for
scarcity area in which taluks of Telangana .?

(1) Gadwal, Alampur & Wanaparthy

(2) Wanaparthy, Sircilla & Gadwal

(3) Alampur, Sangareddy, Wanaparthy

(4) Medak, Gadwal & Alampur
808 FUSD D Beorm ewstud' IHAS

o 888 oy IS Do (€ -)
o330 ? '
(1) ﬁc:-'sd—, w00, WD,
(2) =%28, MO, ﬁn‘sc’f
(3) weord, Vomras, BR00
) eSS, Ha‘s{, wsooiyd
Which of the following is NOT part of Six Point
formula, according to a statement issued by the
leaders of Andhra Pradesh in 1973 ?
{1) Development of backward areas
{2) Preference to local candidates in
educational institutions
(3) Preference to local candidates in
« secretariate appointments

(4) Development of irrigation
1973 &* wogdh arabbes 2rBI3H 6 awok

{am{Ee 08 Ho0000D Sob TEE* D Dabe BB % ?

(1) Shfudsd Foeve olb)d.

(2) dovg ‘bo;gm':‘ .gvag oo rovngs.

(3) EBochS Dabdsed” 08 egbedH
Lﬂ-«;*‘.’asé.

(4) o088 S hD)D.

The chairman of the Krishna Water Disputes
Tribunal-ll is :

(1) R.S. Bachavat (2) Brijesh Kumar

(3) Jagdish Bhagawathi (4) S.P.Srivastava
gﬂwmtﬁ%ﬂmlﬂaﬁﬁ?

(1) 06.5. wrds (2) DFQ %6

(3) =FAS LA (4) 0.0 RS
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31.

32,

33.
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In Telangana, the Krishna river basin passes
through the following districts ;

(1) Mahabubnagar, Nalgonda & Hyderabad

(2) Khammam, Adilabad & Nalgonda

(3) Karimnagar, Nalgonda & Hyderabad

(4) warangal, Mahabubnagar & Hyderabad
8uomrns® 408 o8¢t D 2ere oGt Syar Al
DO (rodo S¢ood ?

{1) wirerdSais, wgTod, ':.i-du'arﬁ

(2) a0, wdorwrs, 7ol ‘

(3) Hboniib, ~Cod, wrdorerd

(4) SSoid, drard SKE, rdorard

Which one of the following districts in Telangana
state has the highest cropping intensity ?

(1) Mahabubnagar (2) Nalgonda

(3) Nizamabad (4) Karimnagar

808 T8S* Bcomad® J 200&f Dobe
FoBs uég@ﬁon‘ 408 7

(1) DdrewrSond (2) S<£Tod

(3) Derérers J8) Sbodnb

In India over the last few decades

a. The Birth Rate is increasing

b. The Death Rate is increasing

€. The Birth Rate is decreasing

d. The Death Rate is decreasing

Which of the following statements is/are correct ?

(1) aandb (2) bandc
(3) candd ‘(4) aandd
ardddios® Ha £ srorg”

a. wibh Ok wihebod.

b. 8w dén wibibebos,

c. b Bt Sih%os.

d. Dw It Siheod.

& 808 o8 D8/ Do ?

(1) a%dabb  (2) badabc
{3) cwwbalud (4) amwbaind

The percentage share of tube wells as a source of
irrigation in Telangana region has increased from
zeroin 1956-57 to % in 2011-12.

8comn (0808’ N HHDeEt el

Qo e 1956-57 &° Fridgo st 2011-12 &*
R e Jod Fre~8 whfod 7
(1) 43 (2) 49 3) 33 (4 26

The percentage share &F tanks as/a source of
irrigation in Telangana region in 2014-15 as per
‘Socio-Economic Qutlook 2016' (Government of
Telangana) is

8oomrn [Drodod® IHNE Shbed® s o
‘Suormre Firef ud¥ DEo 2016' (8corrm
[ebdgo) (s do 2014-15 &* Jod s0b ?

(1) 15.76% (2) 12.67%
(3) 10.05% (4) 5.62%

35.

37#

The total budget expenditure of Telangana state
for the year 2015-16 (B.E) is :

2015-16 Loné)o A3 Svonrm ovay [ebdgo &%
anéo a@ﬁ‘.‘:sdﬁo Jod dotodd voda (wad
vodaren) dhod ?

(1) T 1,10,689 crores/"¢w A2 ¥ 1,05,689 crores/S'w
(3) ¥ 1,25,686 crores/S'@  (4) T 1,15,089 crores/S'ew

The Vashishta Bhargava Committee was
appointed in 1969 to examine the budgetary
surpluses utilization for Telangana development
during the period between :

1969 € Jabodwdn HTY I ds S J sy
8uoms w0 555 wGH0 Dibed aDA M
0030cD0d ?

(1) 1-11-1955to 31-3-1969

(2) 1-11-1956 to 31-3-1968

(3) 1-11-1954 to 31-3-1969

[4) 1-11-1956 to 31-3-1969

Which of the following is not the main aspect of
land reforms in India ?

(1) Abolition of intermediaries

(2) Tenancy reforms

(3) Ceiling on land holdings

(4) Development of irrigation

888408 ghrdoly doed Louofod 808
S8 DB [Londs wodo 575 ?

(1) Rgghdhe Sunod (2) Feaod Voly doco
(3) grShere D HOOA (4) b wDi)a
According to the AP (Tefdngana Area) Tenancy &
Agricultural Lands Act, 1950, all rights of a
protected tenant are :

(1) heritable (2) not heritable

(3) subject toreview (4) reserved
woFRE% (Bvome |Frodo) Teac B, Sgbdrab

ghriwe S&o, 1950 s 8o 8Em Dold Fwod

u.ﬁlﬁ'gsa_m JDDSE DB aw ?

(1) Seberg or8ineH 308D

(2) SHberg daud Sosy

(3) DUDORURS WD

Y4) Omdx Sabadhd

In G.O. Ms. No. 971, Revenue Department, dt :

07-10-1969, the Gowvernment of A.P. had

originally prohibited assignment of government

land to non-tribals in

(1) reserved forests (2) scheduled areas

(3) non-scheduled areas (4) hilly areas

24 0000 0. 971, darg Adrbdos, 88

7-10-1969 &€° woGRds Lghdzo J (droerd

t‘bﬁﬁs Zriwed AbedsSHe® §¢Pono‘$a'.'.n_,

wob Scﬁa‘alai#oﬂoa ?

(1) bzl sdyes (2) drgd | Josrew

(3) Wrgd 50 @roews (4) LEgd (roereo
Series-AB



41.

42.

4a3.

The two categories of tenants that existed in
Telangana region as per the Land Committee
Report 2006 of A.P. were ;

(1) Oral & protected tenants
(2)
{3) Share croppers and ordinary tenants

(4) Ordinary & protected tenants

woSRds orgrans Lowofod rEdd DdaY,
2006 (Ds~8o dconrom [rodod® O God Esre
e da'ld.u ?

(1) DS, 688 T

(2) =arocrb, 888 Seone®

(3) Dobe'Y o>ty HITID Bod
Feord, Irorde Fwad

oo, 658 Swad

Inamdari & protected tenants

(4)

Unregistered plain paper documents of leases
taken by non-tribals from tribals is referred as :

(1) Sada Bainamas (2) Stamp Paper

(3) Sale Deed (a) Sada Binami
AbzNe ol AbaRdthes B0 0 8y Wb
ber Dierein B0 U JRor S ?

Q) o wasirew (2) Fho g4

3) s Ho (4) 2o DD

A feudal title bestowed upon a person who
received as gift the lands for extra-ordinary
service to the kingdom is referred to as :

(1) Zamindar (2) Inamdar

(3) Feudal lord {4) Patwari

udgrdn Ve M U‘s:sofo‘dagofa?ic wow

PO wirchdm SHh) 98D (308 TULY
Dvotrd ?

(1) edoord
(3) rgd< g

oo

2)
(4) ::m-sé

The first committee set up after Independence in
India to suggest land reforms was :

(1) P.C.Joshi Committee

(2) J.C. Kumarappa Committee

(3) Bandopadhyaya Committee

(4) Morarji Desai Committee

A ata ] é-séqu-g.‘aoédo 0y B F e )
i 3nd8 D80 Frd. o D& Jhotrd ?

(1) L0 SREDS  (2) B Shrshy EDd
231 wol'drgrgab 8 (4) aword damow S

Series-AB

45,

47.

As per the recommendation of the Koneru Ranga
Rao Land Committee, 2006, the maximum land.
which may be allotted to single individual shall
be limited to:

(1) 1acre of wet land & 2 acres of dry land

{2) 2 acres of wet land & 2 acres of dry land

(3) 2 acres of wet land & 3 acres of dry land

{4) 4 acres of wet land & 6 acres of dry land
§°36% Sorrovy i $0d, 2006 AIBE ([Ls So
o8 $g38 Sorawoibeld e&ds D Jod
D5 LODED a0 ?

(1) =% J58o £5, 2 J¥ome Hip Hd

(2) 2 28o~e 89, 2 Do Bl D

18) 2 dEore 80, 3 Asore Bl D

(4) 4 J¥oe &6, 6 JE0re Kip &rad

As per the Hyderabad Tenancy & Agricultural
Land Act, 1950, the maximum rent of a tenant in
Telangana on dry land of chalka soil was fixed at :
(1) 2 times the land revenue '
(2) 3 times the land revenue

(3) 4times the land revenue

(4) S times the land revenue

‘worerd S, Hgadrdb diwe Sbo, 1950°
sedo Sem R e H2p HrD8 Beornd' Tword
Do D0 wdehE 6 Jod Baod ?

(1) Preccb 8 Sododews

2) Zhrecrairad awrdodes

3) Froecrarls sfodew

(4) Hrucrair2s oBodes

A.P. (Telangana Area) Abolition of
Regulation Act came into existence in :
vogwdd (8comrm [ Fodo) amfidhe 8,

(E0lEdn Sbo Jpth sbeods S8 ?

Jagirs

{1) 14s8Fasali/fpm  (2) 1158 Fasali/op
(3) 1358Fasali/@®  (4) 1258 Fasali/3e

The Tribal Areas Regulation Act Fasali 1356 was
enacted in 1946 by the Hyderabad State
entrusting all tribal land disputes to :

(1) Tribal committees (2) Tribal communities
(3) Tribal panchayats (4) Tribal Commission
1946 &° wdorerd oipod Jadwdd ABD
|roere Shubslo Py 1356 Hho otgor el)
RozD ghriwe Smroru JObS wlnfiolod ?

(1) Abed o (2) Ad=n wa-gadm

(3) AB=S DHoorandes (4) AB=D ENS
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As per the Tenancy Act in Telangana region, a

person who cultivated the land continuously for
six years before 1948 is called as :

(1) Share cropper

(3) Protected tenant
FTeord Sho [Ds 8o Beome (Srodod” 1948
508 twod HHOT e Dobdyoreo DD
>Hdn g8 ot ?

(1) DT IDohard
(2) S DE Teacrd
(3) &Em odS Feord
(4) rovdo Twordh

(2) Oral tenant
(4) Ordinary tenant

Answer 3 questions from 49 to 51 on the basis
of the data given in the following table :

Table : Operational Land Holdings (in %) in
Telangana Districts
District | Marginal|Small| Semi- |Medium Largel
Medium
Adilabad 49.8 27.7 17.5 4.6 0.4
Nizamabad 67.5 238 7.3 1.3 0.1
Medak 67.9 21.7 7.8 2.3 0.3
Warangal 67.1 (214 8.7 2.5 0.3

‘.'Hniél.'." ﬂﬂaﬁ Sgrodo wprdom 49 od 51 6D
fie 3 DA)ed eamabis).
L8 &) Buoms 2grg't Prihery Jotw

(Terud®)
= TR o) |uE S |
SR [Tow |[TRO (o [Faw
w8ererd | 498 |27.7] 175 46 | 04
Jerararl | 675 | 238 7.3 13 | 01
DSE 679 |217| 78 23 | 03
Dol 67.1. |21.4| 87 25 0.3

49.

51.

52.

Which of the following statements is correct as

per the data given in the above table ?

(1) Share of medium holdings is the lowest in
the holding structure

(2) share of large holdings is the lowest

(3) Share of marginal holdings is the lowest

(4) Share of the semi-medium holdings is the lowest

£ 8o 2gred’ rbery JDovw

(rerud’) s’ aigdo 2=6nob. & derodo

(05 80 208 JbSnud” I8 VEHE" ulod.

(1) grsbere INgos” gy g Shew
arde ués:gon‘ &od.

(2) 25 Jrow Serw ardr wdgeont aol.

(3) ~aar@ly (marginal) Swers arer
wdgeorr a0l

(4) =8 IO (semi-medium) Shere e
uésuaan* God.

Which of the districts has the highest share of medium
holdings and lowest share of marginal holdings as per
the data provided in the above table ?

(1) Warangal (2) Medak

(3) Nizamabad (4) Adilabad :
LU’ adys darodo Lsdo O 2gedt DY
.El'cm grEberw sdgdE oD SO0 aaman ?
sl SbrEY Sherew odge) Srh SO0

Damyan ?
(1) SBoid (2) 58
(3) Derdrard (44 wBorarb

From the above table, which district has the lowest
semi-medium, medium and large farm holdings ?

(1) Adilabad (2) Medak

(3) Nizamabad (4) wWarangal

::%!gé" alys Serofo Qs do 0 2erdt uf
b, ;Enc‘,is g'na, 1::3-.3‘95 rEherew vdgey
o £OR aaman 4

(1) wberers (2) 8

B) derdrerd (4) HBord

Which of the following reasons causing suicides
of farmers in Telangana are correct ?

a. failure of borewells

b: fluctuations of yields in cotton crop

c. Risein cost of production

d. Rise of rice as a major food crop

dcomens® &Sﬁé‘dﬁwm uélﬁ-ésuﬁx 08

S8E* DD 1Th S Eeres ?

a. o orpes dpeo sddo

b. 8 Dob adyB¢* wrdydthes DEyddo
c. ad)3ngabo WiNdo

d. (oo s Dobm 5B LEKES

(1) a.b&¢c (2) b,c&d
(3) ¢c,d&a {4) d,a&b

Series-AB



55.

57.

(3) ®¢od

Which of the following non-food crops that have
grown faster in the past two decades in Telangana ?
a. Turmeric b. Cotton

¢. Sugar Cane d. Maize

Hé Coth dwwre sewod’ dvomrnd® 800
S8t D o088 Dobw wdSorm/Afbodor
wodotwgran 7

a. Xy b. 8

c. VS d. wHED)

(1) a&c [2) b&d (3) a&b (4) c&d
Telangana, state ranks among the
states in India that witnessed farmers suicides in
the year 2014, as per National Crime Records
Bureau.

{1) First (2) Second

(3) Third (4) Fourth

28ch I S wegt' @sedo 2014 &
PBESHE oo’ W ABTE wEirdeed
“owoRoD Buomn 00 & PR Fhodod ?

(1) SwSed g":‘oo (2) Boﬁﬁ.‘?ﬁo

(3) =wrds grao 4) a‘t:.‘-‘.‘-)e':)o

Which of the following districts has the highest
area covered under micro irrigation in Telangana
region from 2003-04 to 2013-14 ?

(1) Nizamabad (2) Mahabubnagar

(3) Nalgonda (4) Medak

2003-04 %ow 2013-14 S Beomrs [@rodocD
800 T8S' 3 2grd’ -y Wgo W oo
w808 Do I rbdadudos ?

A) dmrwrard (2) e

(4) DSE

The ratio of gross irri?ﬂed area to net irrigated
area is referred to as :

(1) Irrigation efficiency (2)
(3) Irrigation intensity (4)

Irrigation ratio
Cropping intensity

Lreom Lgly D6 eobhdl) Dgeds, DESom

1560 N wotbdiy oS e AN Jokr ?
(1) g 0 daes (2) gl o8 R
(3) Ligly N oS (4) DLode o

Which of the following districts has highest out-
turn of total cereals & millets in Telangana region
in 2013-14?

(1) MNizamabad (2) Mahabubnagar

(3) Karimnagar (4) Warangal

2013-14 &* oo (drodoc®D Sob 2 2urs’
Sporargy 488, DTh ad)8 wdghsom aod 7
(1) Jerdrard (2) SodrarSonbd

(3) ZBowiib (4) HBoid

Series-AB
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59.

61.

The ratio of gross cropped area to net cropped
areais referredto as :

(1) Agriculture intensity (2) Irrigation ratio

(3) Cropping intensity (4) Crop ratio
3'5‘.‘@3&;61 }’;n'e. .:a.gg-:ng, e ~E8
3‘.'._2:_;'55 g fe Hp8D Jinoird ? (Hobes
s e G, Dobes D JEE IPos
0h 530 28 ?)

(1) Sgbdrab oS (2) b bgadrab A3
(3) Dobe o8  (4) Dove A3

Which of the following districts has the largest
forest area in Telangana State as per 'Socio-
Economic Outlook 2016' (Government of
Telangana) in 2015-16 ?

(1) Adilabad (2) Khammam

{3) Mahabubnagar (4) Karimnagar
mm-ugsqao 2016 (8eorrm
{ebdeo) Es~Bo 2015-16 G‘Bmma'égoéf&uﬂ
TEEVD 2E" wghS o) Dros o dod 7
(1) @dwrerd 12) o

(3) SdrewrSHKE (4) %booKb

Bt cotton seed is widely adopted by farmers in
Telangana and elsewhere because farmers
believe that :

(1) Itincreases the biodiversity.

(2) Itimproves the soil fertility.

(3) Itis very cheap.

(4) It reduces the cost of production.
dvomrnd’ar, adl |(Fosedtsr Sgbdcb-

oes D D8 Ddsred Do Fard.
JodhEod 370 &yuc* b 18 ddares -

p.] 35 .3_:)4:'5.'.31’.101'515‘03

(2) ek >Sdhodo I

(3) 3£ e

(4) @83 bgairets SATaw

Which of the following districts has the lowest

consumption of fertilizers per hectare in
Telangana state ?

(1) Karimnagar (2) Medak

(3) Warangal (4) MNizamabad

8comrm oo’ 808 S8S 2 2’ X
et SdulS Yo Aaro edgeyor
aod ?

(1) Ebodnb
(3) Sond

DEE
e G

2)
(4)



62.

63.

65.

Which of the following districts contributes the
lowest percentage of service sector to the GSDP
of Telangana region in 2013-2014 at current
prices (FRE) ?

(1) Nalgonda (2) Khammam

(3) Nizamaba\_d (4) Adilabad

8 6o’ 2013-14 & Bcomrm (rodod’
o™iy ‘{.';l-c» Lﬁ'oédﬁ'é:lgd‘ . Soily ardr
wdgeorr 808 o’ o rsg'd"'ﬁoa ?

(1) 2&?‘06 (2) p‘::go

8) zdrerd (4) wBoard

In which of the following districts of Telangana
state, National Investment & Manufacturing
Zone (NIMZ) as approved by Govt. of India is set
up ?

(1) Mahabubnagar  (2) Rangareddy

(3) Nalgonda (4) Medak

808 F8S'V W) Beomre 2’ wr8ch Dipwd,
Satrd (Ardagdrggy00h) £°S (NIMZ) & r8d
(Pebdgo oyt Sod ?
(1) drarSond (2)

(3) god (@)

8 on'aé
2XE

Which of the following districts has the highest
number of biogas plants installed in Telangana
region in 2013-14 ?

(1) (2) Adilabad

(3) Khammam (4) Nizamabad
2013-14 &° Beomm (Frodod’ wdghs Vowgs®
g Sommrore® (Jrode) Q'bo% 2
(808 >»8¢%) D8 7

(1) Zbonisb

(3) wano

Karimnagar

ulorers
Derhrard

(2)
(4)

Which of the following districts in Telangana
state has the highest number of industries ?

(1) Hyderabad (2) Rangareddy

(3) Medak (4) Nalgonda
8comrs Oyod 208 2 2’ ediny
Do oy ?
1) wrdocerd
(3) DSE

(2) ﬁon'ag
(4) »gTod
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67.

Two-third coal mines in Singareni Collieries in
2014 were operated by

(1) Open cast mining (2) Underground mining
(3) Deep shaft mining (4) Tracking process
2014 &* LoASs S'h Hg® Srrdob Bok Hode
&ih Hives Jor Abgdrodugman ?

(1) warSof (open cast) Hwe (EigSo0

(2) uoiio'aﬁ (underground) e L&’)sgo

(3) &'8% >dor rve (5380

(4) |&r8oR D8ab

‘The Annual Survey of Industries’, the pripcipal
source of statistics in India and in the states as
well, related to :

(1) Organised manufacturing

{2) Unorganised manufacturing

(3) Informal manufacturing

(4) Organised industrial sector

883708, oo Dowofod (LerRdn
Herosre eardDd ‘3008 0FDE Vg’ 200
Sr8&* 802 LowoRoTd WarTroR) Brpod ?

(1) é;ﬁfgﬁaé Saf8 Sorfo

(2) u‘é&ﬁgﬁaé Saird SoXo

(3) Dfgo 52 Sabrd Soifo

(4) DgHHE)S 0T Soffo

T-Hub is setup in Telangana state in Gachibowli,
Hyderabad at :

(1) Indian School of Business

(2) Madhapur

(3) Hitex City

(4) T Campus

WEorEED KTV O [rodos” Buome
©ghd8g0 & - IS Domyé Sod ?

) =oddbs :r&,cfu:: D235

(2) Sroiyb

(3) a5y

(4) o.0.0.8 s57g0ld

Which of the following is not part of Industrial
Corridor's Development Phase-l in Telangana state ?
(1) Hyderabad - Nalgonda Industrial Corridor
(2) Hyderabad - Warangal Industrial Corridor
(3) Hyderabad - MNagpur Industrial Corridor
(4) Hyderabad - Bengaluru Industrial Corridor
8corrn ovpod” /DS 86 8 oDD)d
28 DES® Lo AL D 590606 eriio 595 ?

(1) wooreré - 5§08 FOTDE s°0a6
(2) dorard - HSoid O DS s*Ba b
3) wdowrd - >RYyS IoFdE s8a6
(4) Sowrb - Dotk IOTDE 5065

Series-AB



70. The largest category of consumers that consume
' highest share of electrical power in Telangana state is :
(1) Agriculture
(2) Industry
(3) (HT & LT) Commercial
(4) Domestic category
8comm ovanod® wEg0E Dehgif 8D anarhod
68 2 2ard Do I8 ?
(1) SgaSrabo
(2) VoFED
(3) odego (S.8& Y.
(4) rSJ.r dolo
71.  Which of the following districts has the highest
National highways roads length in kilometres in
Telangana region in 2013-14 ?
(1) Mahabubnagar (2) Nalgonda
(3) Warangal {4) Adilabad
2013-14 &* 8¢ >aH (8.D.) &)y Bvors
(Frodec®d D 2o’ wbad Srordew
wéghSomr aTman ?
(1) drerSonb 2) ?™&od
{3) o (4) wBerars
72.  In terms of Gross Value Added (GVA) from
industries, the Telangana region is ranked in
India as per the AS| results for 2011-12 as :
2011-12 J. N Pew [Ds*8o IPTDE
(Gross Value Added) &)g wrdsdfoc”
8vomrn (Jrodo Fobd o0 od ?
1M e @ 7™ (3 & (4 9"
73. Telangana State Industrial Project Approval and
Self-Certification System
(TS-iPASS) Bill 2015 is designed to provide
speedy issue of industrial licenses within
days of application.
8comm oY) JOEDE |PEH owd, Tod
&)wEse Ageno (TS-iPASS), Deo 2015 orgmod’
I WY Bared® Yo FOTDE v
ad) D580 DdFgon ?
(1) 12days/8%es  (2) 7days/Eaeo
(3) 10days/S'=ec  (4) 15 days/S'=en
74.  The percentage of share of industrial sector in
GSDP of Telangana state at current prices for
2014-15 (AE) was
2014-15 (AE - wwo&p wossrew) €° uomrnd®
[(Epd $8S* ovgy Yo (FrodarE)3 (GSDP) &
JOdE Soif ardr Jod ?
(1) 25% (2) 28%  (3) 35% (4) 37%
Series-AB
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75.

76,

772..

Consider the following statements :

a. Many ferro-alloy metals are available in India
in abundance

b. Except manganese and chromate, no other
ferro-alloy metals are available in abundance
in India

c. Copper is a high corrosion resistant metal

d. No ferro-alloys are available in abundance in India.

Which of the above statements are correct :

08 a'smgu{w faneodod :

a. wedaddos’ R Y- wordd SFew
B HIvow.

b. o, §'DE 80y ass PG - vwrad
&0 g 88340S" 20 LHoSD).

¢. O°h wdd rooldabd o,

a

883508 P 6° - vorab e eDoSY).
L a'gmsf.«ﬁ' QD WoRD ?

(1) a&b onlw‘\‘m'@&is (2) c&donly/am&d
(3) b&conly/fm&d (4) a&donly/am@d

Which of the following are important aspects of
human development ?

a. Large families, social status

b. Equity, empowerment

c. Migration, entertainment

d. Productivity, sustainability

ared u{)‘é&%é womoBow 208 o8t

[RorHds worres 2 7

3 g Gemomres, dErRg B

b. Tmdgo, IrBs Ed

c.  Ped, 8o

d. aeyEss, oS

(1) b&e onlyfh:-@i& (2) a&donly/amsd
) b&donly/ardd (4) ake only}“&n-@ﬂ:

Which of the following measures are essential

for reducing regional disparities ?

*a. Providing subsidies to everyone
backward areas

b. Building infrastructure in backward areas

c. Providing subsidies to large industrial houses

d. Ensuring atleast a minimum level of
subsistence to all poor people in backward
areas,

ro8ah wiiradeiy SNoda s 208 oSt

éuHods ﬁﬁs&'fa} 3::?0 ?

2. I8 (roerud’ olbl Wi $0yorD.

b. SwEWES (oered” widYlbor Fsoged
u@ﬁaa Jalrd,

€ 8 PEDE Voged VB)Ee $0y00.

d. Swsuds (Poere WS [Drod SN SHed
Q“Q»S D58 udor S’E}aaa‘{).

(1) a&bonly/ar@d (2) a&donly/amdd

(3) b&donly/amEd (4) a& conly/amsd

in the



78.

203

The better way of achieving ‘inclusive growth’
must include some of the following aspects :

a. Taking up short-term measures
wherever required

b. Alround gender equality

Alround development of SCs, STs and other
weaker sections

d. Development of social infrastructure

..ﬂbgi?é ::;ﬂ:) r8odarnd 808 o8t D

WO U :‘:!du&‘a'& ?

3. SSEINOpd G gD e)s 08 Sg
Joer®.

b. oif Lardgo

€ o, O oo add ShEadd S5KdHe
MSS%W-Q‘.’.:‘}Q

d. a2 uﬁg-:m-%ag

(1) b& c,unlw‘b'@ﬁn [2) c&d nn[y}'brtﬂﬂa

(3) ab&conly/im&d (4) b, c&donlymEd

only

In terms of urban population, which of the
following states have occupied the top three
positions ?

a. Maharashtra b.  Uttar Pradesh

c. AndhraPradesh d. Tamil Nadu
DOEY 2y Dowodod 08 orYryed” Incsd

Qi P FoBHD D7

a. Difovn b. adgDas
¢ woBD3% d. &d¥>d
(1) a,b&d 2) ackd
(3) bc&d (4) a,b&c

Which of the following states exhibited low
performance in female literacy rates in 2011,
according to Planning Commission ?

a. Bihar b. Maharashtra

c. Rajasthan d. Uttarakhand

(e @5~ Dodve (Dsrdo S0b majud‘ Lolree
sfoger O Iudbod® 2011 & EEpd
POl olS or e DD ?

a. b6 b haddoiy

c. o=EFe d.  adowob

P
(1) b&donly/am&d #2) a&conly/ar@d
(3) a &b only/om&d

c & donlyfarm&@d (4)

13

81.

According to 2011 Census, growth in population
in the mega cities has :

(1) slowed down (2) picked up

(3) remained unchanged (4) boomed

2011 RO Psdo drbded’ amyr H) O
o s Fobobd ?

(1) #nod (2) wOhod

B) JuEEm dod (4) ‘.’-nﬁz;.’ac%i)gabhob
India is regarded as a country with ‘demographic
dividend’ because of its high proportion of :

(1) Population in the age group below 15 years
(2) Population in the age group of 15-64 years
(3) Population in the age group above 65 years
(4) Female population in total population

P ESd D) ‘maryr Dowodd ADGE c‘;"iom
8T . Johs ?

(1) 15 2¢&% dabilny e maryr vHE o’
aoddo.

15-64 O¢ g dabny Ao waryr whE
8o0d® doddo.

(3

(3) 65 O¢ WwdEd dakkny do zoyr ©oE
adod® aoddo.
(4) wdo margrd® ;g zaryr ¥ pdodt

Goddo.

In India, 60% of the migration that takes place in :
(1) Inter-state migration

(2) Inter-district migration

(3) Inter-city migration

(4) Inter-regional migration

2 B83%06" 60 Td0 Hees O é‘é!'cnd‘ 20bman ?

(1) wodd oy Sedes
(2) ©0db 2~ Hedew
(D ©wodd B8 Hobw
(4) wodd |Frodab dedes

Census data from 1901 to 1991 show that :

(1) There has been a steady rise in female-male
ratio ;

(2) There have been fluctuations in female-
male ratio

(3) There has been a steady decline in the
female-male ratio

(4) There is no particular trend

1901 >0 1991 HEH W0 Serodo 808 F8L?
O torDpod ?

1) 3 -8 R3S (SSor WORCS.

(2) b; PED NSt it Brbdbes,

(3) n}j - D :ﬂ.n& (Eor éﬁo&

(4) =8 202 58 wolar S&.

Series-AB



As time progresses, the demand for water from
non-irrigation sectors like domestic sector,
energy sector, industrial sector

(1) is likely to decrease substantially

(2) is likely to increase substantially

(3) islikely to increase marginally

(4) is likely to decrease marginally

swo #8085 £8 #yr Yoo, IN§ Soio,
OTDE Sotfo Dot VY Bomre wod A
&&rob 2 Mo aod 7

(1) orer 1 whsrdo dob.

(2) orer 2078 vbs fo aod.

{3) 28 Vo WO whsfo dod.
(4) 28 IO S sdsio acd.

Data shows that in 1951 the people living in
urban areas in India roughly was :

(1) One out of every three persons
(2) One out of every four persons
(3) One out of every five persons
(4) One out of every six persons
1951 &° gréddioc’ Db Fosred’ Mohod
[Pe2e0 O sdrSod” a5 ?
(1) @08 wwibdh HgHed® et
(2) (8 Seorbd 555106“ X1
3) (028 odibd® 655:4-.-6‘ 255

(4) @B bt e’ 8

According to the approach paper to the Twelfth
Plan, the towns that are backward and have not
been able to participate in inclusive growth are
so, mainly because of : '

(1) lack of population

(2) lack of infrastructure facility

(3) lack of motivation

(4) lack of people in the working age

V0D (e st S)5)8 Vo (wstio JwEWES
Dberes, WO ‘.’:Jgé" rifo STEH. Jof% 7
(1) =argye S€3%E0

(2) uhg‘im" FEorgen TEISd0

(3) @eyiro EE%d0

(4) ‘mﬁf.:‘hdb_) fe [wess TEd%do

Series-AB
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The recent audit report of the Comptroller and

Auditor General (CAG) of India has pointed out

various irregularities (as per LAAR). Which of the

following are correct ?

a. Allotment of land

b. Utilisation of land

¢. Resettlement of affected people after
acquisition of land

d. Compensation as well as rehabilitation of
the affected people

Pr¥8e &8 Lowohod rEd Lodheb &

wdbb =58 (CAG) adfhe udd Jdase® 808

T8E" 508 1020000 B oEra adbir s ?

a. ¢brderavolyes

b. Zrdardo

¢ PrusSe by eSSt Bue edDos

d. [Perdd Dauo SHHBSY0, Phorao

(1) a&bonly/ar@d (2) ab&conly/mdd

(3) a, c&donly/am&d (4) a,b,c&d

Consider the following pairs :
Five Year

b Major Objective
a. Xl i. Development of Large Scale
Industries
b. VIl ii. Poverty eradication
c V ili. Inclusive growth
d. iv. Human Resource Development

Match the above correctly :
808 =du faotiod :

Sodsd

e wes w0
a. X i grd WOty ©B5)8
b. Vil i 0¥ domen
¢ Vv i, %208 58
d. |l iv. Ereh St uﬁ)‘&:ag
o 80L% &8 Vo zddabod.

{1) a-ii, b-iii, c-i, d-iv  {2) a-iii, b-iv, c-ii, d-i
(3) a-iv, b-ii, ¢-iii, d-i  (4) a-i, b-ii, c-iv, d-iii

An institutional arrangement between a firm and
farmer to produce and transact agricultural
commodities is known as :

(1) Commercial farming(2) Contract farming

(3) Small farming (4) Cooperative farming
ﬁg‘.‘.ﬂ'cﬁ S adya 30, hva}ﬁ'ﬁ‘
uaga-as bg'éa-dbc:-&:hs, . ‘bo‘.;:ﬁ: wig 287
DK ot Jdvosr ?

(1) aredeg Dgadabo L) adyodo BebIdbo
(3) T)s~& Dgadrdbo (4) WrstE Dgadabo

203



91.

92.

93.

In terms of land area, India's rank in the world is :
g o Sy ool rdsdd Feo
Jod 7

(1) fourth/a o
(3) sixth/6%

(2)
la)

fifth/5 &
seventh/7 &

Acquisition and requisition of property falls in
the :

(1) Central List (2) State List

(3) Concurrent List (4) Private List

upe ES, adi PogE evev O LESo 808
S8S* D arDer 8088 SJvaw ?

(1) Soi ele

(3) abad Pafati

2) oy erde
) »dS e

The mam rationale _behind laws like land
acquisition is that :

(1) Government is supreme and can take any
decision that it feels important.

Community good is paramount to the right

of an individual.

An individual does not have a right to

property.

An individual has a right to property but the

government can solely decide to acquire it.

$rLEde So8 SEre (Lo VirdE ordo D8 ?

(1) @Eegbdgo il w@DEgo Eud sl odlo D)
0d 2 dopgad MafrPor S8,

(2) ©g8 8o 5&'5:}!! Padrasres DErndio,

(3) HgHe el Ly dodd.

() Bg%ed ob S anEnds @ebegds

grogden VoesTorw s,

(2)
(3)

(4)

Reservoirs and tanks suffer from siltation and
this effects ;

(1) Land in hilly areas

(2) Uncultivable waste lands

(3) Afforestation of catchment area of rivers
(4) The oceans

suriabres, 3o raE HOE Dod'dbaman.
5y (Lgrddo 06533 D8 ?

(1) Sod @oerw/ibhe gD

(2) dHodol: ,,:5505-:3. D080 girad

{3) Sfzeoird 88 | Poared’ wde e

(4) Sworw
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95.

97.

Afforestation is essential for :

(1) Moderating ill effects of floods and
avoidance of erosion of land

Industrial progress

(3) Improvement of fallow land

(4) Improvement of barren land

0bd (od Judn wbfgss Dol ?

(1) d8de B Deraem éf‘soﬁdo. iy
:)a'la';)l p‘{xio

DS [Dife

(3) 2HTabd LD DECHESE0

(4) moed rtme u%ag

One very serious defect of the National policy for

rehabilitation is that it covers only :

(1) Displacement of landless labour

(2) Indirect displacement

(3) Direct displacement

(4) Displacement of people who are from tribal
region

DHoarRE  Dowofodd =8dd Devhodt

Wd“mbw?so&a‘ﬂd‘uadm

G ED DeohBHotnod ?

(1) 2o (T Q-ﬁ: Beno

) B I Seo

(3) [{)ﬁsgg“é Suno

(4) AdzD |droere [Due %f-fa Sedo

According to Census 2011 data, what percentage

of Indian families do not have more than two

children ?

2011 D30 Serodo (D780, A bew HoF

D Voerno TR s Hivowrew Jod TEo

(2)

(2)

aaj_m?
(1) 46% (2) 54% (3) 35% ) 60%
In India, te’ prevent further soil erosion one of

the important measures we may resort to is :

f1) Allow free and uninterrupted use of water.
(2) Afforestation and pasture development
programmes in hilly areas.

Encourage larger doses of fertilizers in
agriculture.

(4) Discourage use of ground water.
r8d8ddod® orado daovdbo  2diboar
aodoth® B85Sl [Neve $8g Jet ?

(1) d4D aDSorr, Jbodbore WGNosSa s

(3)

u‘kﬁ‘»azﬁ_;sdo.

{2) Fod |Froerg’ wod ZKde, O oy
uﬁ)ﬁ;g LDESL Wi,

(3) ﬁﬁﬁﬁ-oﬁod' vl Yo TEdsY
[@FEydroddo.

(4) DS DS >ds D) DherBrboSdo.
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Any land acquisition law must essentially ensure ;

(1) The commercial interest of the investors

and the government

Development of industries, whatever may

be the consequences

That local bodies have nothing to do with

the formulation of the law and its

implementation

Welfare of farmers and other stake holders

on one hand and strategic development

needs of the country on the other hand

o sl Do Sod a8S* 300 S0

sarard ?

(1) (Lebdg Daramoi, Divad JLomd Srdeg
padrzaru starerd.

(2) Woerorun ‘bgodu?éoa- oS~ uaa_,ga
s*arard.

(3) & 15-:51:. SrbS*t d, s D 0
‘.ﬁo‘.;.m S 0D aodd,

(of Sgtaboete, 88 chetrive Hogind)
83y drhE)s  edloed )
s P D,

The 'National Water Policy' adopted in April 2002
provides a framework for taking care of some of
the following :

a. The guantity & quality aspects of water

b. Water outsourcing and development of tube wells
¢. Water development and management!

d. Environmental aspects of water

2002 RS varbod) wiesHiDh ‘er8dh ¢

Dobo’ 808 a8t 30w &)Y FHoDod ?

(2)

(3)

(4)

a. . D88 Lo208oT% LELrmo, Tmgd woTes.
b. & oSGy, FoY erde u%a%.

c. D8 u{)‘bacg. Rere.

d. 48 JouoBold Lorghln worres,

A1) a3, b&¢c (2) b,c&d

(3) c,d&a (4) d,a&b

The New Industrial Licensing Policy adopted by
India in 1991 suggested one of the following :

(1) Abolition of industrial licensing

(2) Increasing the role of public sector

(3) Compulsory technology transfer

(4) Strengthening small scale industries

1991 &F odesdBUn rdd I DY ok
JPs0 DS LS I ?

(1) 2BDE Tudyohin 5 LS.

(2) L‘.’.nﬁ;és'tSoﬁ ar|do woord.

(3) ro2Za¥ L8y $lny%oae 288 Jaird.

a) Dy SELDEses peldod, EyrocD.
senéire
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102.

103.

104.

The concept of multi-dimensional poverty Index
was introduced as a new measure of poverty in
the year :

‘wirol’n DE0E D8 & Luosd) 50T o8
§8 ehom J Lobs ot DL ?

(1) 2008 A2) 2009

(3) 2010 (4) 2014

If people of one country invest heavily in another
country and earn massive profits :

(1)

This can be considered as economic
development in the home country

(2)

This has nothing to do with economic
development in the home country

This cannot be taken as
development in the home country

(4) Outcome cannot be assessed
.8 34 [Dees 2087% dH0S’ whSorr Vivad WY
2008 ergres IV

1) 8230 tgdioc® es"ps)aT LOKtoSHY),

) A28 1938 ubsDHAS Jsbod Dowodo
& oD,

(3) AW gddod* w5 PR)an LordoSod.
(4) DD wosa abEo.

(3)

economic

The forces of liberalization and globalization .in
our country have strengthened investment in :

(1)

forward states much more than in backward
states

backward states much more than in forward
states

(2)

(3)
(4) an even manner all over the country
DE088m, PhodEdn  dHew rES8diod*
Divahes O ovRryed’ i wsthdo Jran?
1) SEa8% 5‘9‘)!.; o8 9&‘&:‘\@ DolS
9ot Divades VBT,

ohB)Y Todd TFryv So8 SwSwdd
orgryed’ iputes O,

Do (roere o8 e |Fosredt
Wvaxdbes DOMaD,

Sdosa o Lé'na'r.rﬁ‘ 22 &raem
Dipades LOMA.

rural areas much more than in urban areas

(2)

(3)

(4)
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105.

106.

107.

203

Social assistance schemes seek to provide

assistance to the poor and needy. They are :

(1) linked to the contributions made by the persons

(2) financed from the general revenue of the
government

(3) financed through contribution by employee,
employer and the state

(4) financed through contribution by employee

" and employer
bsarns, sﬁ’od'.‘m:bl 88 or2¥ DSSab¥
st Sdyderon. ©d :

(1) &5;5..1&'..: ate dorvreh Dowofo e,

(2) @ebég Trordem OSRrg oD FVYRD.
(3) a&fstven, affsmpdides, owimo ady
Sorvru vowoSownw.

(4) aE.‘grix.a, a&‘;rr-@:ﬁ:u ad) dorerus

wouodowin.

The liberalization phase in our country indicates that :

(1) We are not able to take advantage of the
young population bulge

(2) We are able to take advantage of the young
population bulge

{3) Well worked strategies exist to ensure that

we benefit from the young population bulge

Government has been ignorant that there is

a young population bulge that exists.

o doc® VPG &% wrDovodDe 7

(1) =averd® fo wbE abd¥sd bo Lo

s TS,

aorgrd’ fou o8 480 Ddo DO

TS ame.

divéley St o% Pobars vsroedo

Qrgates aImow.

ddos® abdd§ whSor amydy (Dgbdgo

HBo ST,

Higher the share of workers to non-workers in

the population of a country implies that :

(4)

(2)
@

(4)

(1) The smaller will be the surplus available for
investment

(2) The larger will be the surplus available for
investment

{3) Surplus available for investment may drop
drastically

(4) Surplus available for investment may be
constant

o8 3 everd” Foddhed 0N Tade

¢ wb%om a0 woll Jaw wgo ?

(1) Divod Sabardd eSLEah Dibew weyorr
aod vl ugo.

(2) wm&mmﬁm 83990.

(3) ViowAE GSLEIS Dibes Sborr K.

(4) tperdd TG0 Dibes Jusdhr aozs:)ugo.
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108.

109.

110.

111.

If the growth of working age population is
greater than the growth rate of child population
in a country, it will lead to :

(1) Higher dependency ratio

(2) Intermediate dependency ratio

(3) Low dependency ratio

(4) Non-dependency ratio

o8 dioc® D avyr D)8 d Lo8 WIEL
Saboy e 2oy 58 dn wbom 408 uvb

328 od 808 ¥
(1) 008 ugrdd IS (2) g verdd Jin3
(3) vy ugrdd .U‘J.Qg (4) vargrdd X3

One of the most challenging issue that India is
facing at present from among the following :

(1) How to compete with the most.efficient
countries in the world ?

(2) How to provide food security and basic
amenities to a large section of society ?

(3) How to increase employment in the
agriculture sector ?

(4) How to strengthen the public sector ?

208 o8S* [Tado ES8Td0  AHT)oluDy
w8208 [Dernad Dare Jdd ?

(1) EDodod™ vwa }’J‘.‘.ng‘éoéla_;k d7u8 Jdor
T Lo 7

2ol 0 Sguh ol HEduD,
add 08 FrEorgu Jor EONoord ?

(3) DgdIrab Solfo® I o WoTd 7
(4) [ebdg Sorrdy Jeo wsthdo datrd ?

In an economy open to international trade, gross
national product may be greater or lesser than
gross domestic product depending upon :

(1) The growth of the industrial sector

(2) The growth of the agricultural sector

{3) The netinflow or outflow of foreign income

(4) The depreciation rate
wodgradd HELod Lowofo LOAD ¥

‘55506' ...u-e.- E’E‘cﬁ'é"}a&' ﬂ"&" a.a-b
z'éciis-éba T o S&bhm aoeﬁ;‘:ﬁu
©0HS e S*8mo Dds ?

) Ba2E Sod D)8 (2) Hghdwab Bolf 5)8
(3) D8 28% Diben (4) SSHidSe Tév
Economic development implies :

(1) Quantitative changes only

(2) Qualitative changes only

(3) Technological changes only

(4) Quantitative and qualitative changes

©0% wfiH)a0 TrDods DD ?

(1) LbdrorS)E drdyeo m @SS

(2) Her&)E wrdyew argad

(3) arosa¥ e D

(4) LBre éaﬁ, ﬁ)w-éaﬁ Srdnes

(2)
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113.

114,

For underdeveloped countries, economic growth may

be defined as a rate of expansion that moves an

underdeveloped country from a near subsistence toa :

(1) substantially higher level of living in the long run

(2) substantially higher level of living in the
shortest period

(3) substantially higher level of living without
reference to time

(4) substantially higher level of living compared

to our neighbouring countries

TS e S)2mg ugé‘iaag w08 Xbe WiNotse

S 28 Fofaldd Ord) LN sedde oD D

Frows Su8¢os BespBod. v Fw B ?

[.ll égswuoé‘ S8l woE 55 hro
Fraws Ssgdo.

(2) Ry) steod® ITOYPEEN 6o 55 Lhre
g'ans é:-’.nggdo.

3) s"wod deyHoar {:':Ja)g‘dﬁ wos #5855
(Sre Fraxd éinegdo.

(4) 2O D& dered FOY INYEEH wbE
255 e avd Bsydo.

Which of the following are the main areas of

National Forest Policy, 1988 ?

a. Protection of forests only

b. Exploitation of forests only

c. Development of forests only

d. Conservation of forests only
2dab wod Jovho, 1988 £ Led wowew

(808 >8¢*) 22 7

a.  edHe Vodi,m ardd

b. wdde™ alarfoESdo ‘-"n‘l_ﬁ
C  edye uhDH)o s

d  edHe ‘Q)étixgdm amad

) a,bé&conly (2) b,c&donly
(3) ¢, d&aanly (4) d,a&bonly

Which two of the following are the main effects
of the destruction of forests ?

a. Increasing the intensity of flood effects

b. Increasing the humidity of air

¢.  Increasing temperature

d. Decreasing soil erosion

808 T8S* [Dordom O Bod Peraw wdde
QB0 by bdada'cm ?:

3. RS [Lerd JroEE Wibebod.

b. MmO dh wHHE0H.

¢ oFHs Wdibdos.

d. 8 fmd &ibhhod.

(1) a&bonly/Srm@d (2) c&donly/arSd
(3) a&e aniy!ﬁr@ﬂ: (4) b &d only/&mEd
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115.

116.

117.

Which of the following are the major objectives

of sustainable development ?

a. Going for highly mechanised methods of
production

b. Protecting bio-diversity and balancing ecology
for long-term development

¢. Offering large amounts of subsidies for
industrial development

d. Enhancing standard of living of BPL families
and achieving inclusive growth

808 or8S" 28 ©HB)B DO eges A0 ?

a. ©RE diro|B8te LiSe oo & &30 Fpdo.

b. &gs'c.r D)8 o) gD SFoséo,
whdo Do & I8oddo.

¢ POTDE o %0 ©g¥ et
mwj&e;.fﬁn aigdo.

d. o*BiSg do® Sod av) SHwowre £ fibre
g-nn.t\ wosdo, wpPs &.)Q:J FHoddo.

(1) a&bonly/am@d (2) c&donly/ar@d

(3) a&conly/ar@d (4) b &donly/armSd

As per UNDP Repdrt-2015, in India the highest
ranking state in Human Development Index is

(1) Maharashtra (2) Punjab

(3) Kerala (4) Karnataka

UNDP Q385 2015 (D5 do yr883od’ wdghs
LrdarDB)8 ovgoH &%) oo 08 ?

(1) Doy (2) Dowrd

(3) So¥ (4) Sorex

Sustainable development refers to one of the
following :

(1) Long lasting development without impacting
environment negatively

(2) Economic decisions are taken focusing the
growth

(3) Economic decisions are taken based on the
demand and supply forces

(4) GDP increases owing to increase in general
price level,

808 o8t ‘Kncgci;_b‘r‘a aé,'léagn abia Joe?

(1) Dorgdderd) Su)dabd Dorr 88505
e%_]g wddo.

(2) $)8 S)arg w0s abren a08%&0.

(3) G&rob, Tob I ugrBorr ©08 Jfabre
o850,

(4) Fordo &8 .;:-o.w‘ whibde by o
dRars)8 wongo.
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119.

120,

203

Often afforestation programmes were not so
successful because of mainly one of the following
(1) Poor quality of soil

(2) Poor quality of air

(3) Poor quality of water

(4) Poor quality of seeds

whd [Frod R Vster wodm :béa!)a'm
SRETTHG S 8o > ES" OB b S*e0 ?

(1) EDodDo de sgd%do

(2) ot T eage oo

(3) AS* sregd oo

‘4) Ddaruct rmgd Sboddo

In order to restore ecological balance, one of the

most important solutions from among the

following is

(1) Reforesting and extension of forest area

(2) Extensive use of available water

(3) Bring barren land under agricultural use

{(4) Bring barren land under industrial use

uddn Dodoad oy ;‘735 8508 wdgod

(Do D078 Wrdo (308 Sr8S%) 28 7

(1) wdpod B’g?'a:.?boddo. obd |Sroery
Bovddo.

(2) woberind® ﬂtu_m aXyydor AAPHOSES.

(3) womdd chrdwed SHehdrab ovgdl
wEroom rdydo.

(4) 20wt thrbeds JODE AL MRS k.

Which of the following statements is correct

regarding the VIl Five Year Plan document ?

(1) It appreciates the implementation of the
afforestation schemes.

{2) It identifies some deficiencies of the

afforestation schemes.

It ignores aspects related to afforestation.

It states that the afforestation is not a very

important concern for India.

JRDED VoY (Ler@EH Dowofod) Sod

z-sgsbd‘ 28 T8 7

(1) ©6d |Frod 6w Wste vDesd 85

(L8 [DoloDod.

vbd (Frod e WstesD FR) SFred

80 (e 0X I8 Urod.

(3)
(4)

(2)

(3) wod Pod e vorcd 8L (L0
aL8oDob.
(4) erd8diods” wbd. (o8 28w o38 wod

(RO wodo 7ED 8D (e 0¥ 80000,
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121.

122,

123,

124.

In India, intensity of land erosion has ;
(1) reduced

(2) increased

(3) has remained at a low level

{4) has remained constant
rd8dHos® e Daridd Fold :

A) 8hod (2) wBRod
(3) uua@‘um?‘doﬁ (4) Desdm aod

Material resources like minerals, timber, fish,
water belong to one of the following :

(1) Provisioning category (2) Regulation category
(3) Cultural category (4) Amenity category
werew, Sud, Jhe, A Hod tnd/T 88 Shthen

808 8S* O 61488 085D 7
(1) dwogde vo  (2) Daboysm dEo
3) o BELTo  (4) eIEE Do

Trends in existing level of food grain productivity
in India indicates that they are :

{1) Just enough to take care of future demand
for food

(2) More than enough to take care of future
needs

(3) Not enough to take care of the future needs

{4) Cannot be assessed 2

8883 o8 grarge aenySES Jlchod’

(Rnes :;n:‘.,;a Q2 Seadnebod ?

(1) m& wirs &hrob% HOd'abosnm 688
Goénod.

12) ap’b‘&:;ﬁ BSVo LD DoW S48 2ibdod.

E)
(4)

XS ST LED'BOS 6 83 L.
wodTr SabTo.

The loss through water erosion cannot be under-
estimated. The irrigation potential is decreasing
mainly because of one of the following :

(1) Siltation (2) Floods

{3) Soil erosion (4) Soil conservation
O Dar¥ho Do =6d D) $&5d5 woldsy
Sabveo. uimv'g b ] Ls)‘Eéx., iﬁ;ﬂg
?oou-‘hgé 6@&? a0d. oD He DR

s*8e0 (808 F8&%) D8 ?

(1) SLEdo ebivh LHHGH wid,
o e

(2) S88en

(3) &S Davido

(4) &S Pt
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125. Development goals may be defined in terms of
progressive reduction and eventual elimination
of some of the following :

a. Poverty, unemployment, inequality

b. Population, human development, social

infrastructure

¢. Malnutrition, diseases, illiteracy

d. Agriculture, employment, literacy

$00 a8’ 3¢ (Shom SNy, woddorr

Ddrl&c:ﬁw3 sordom ”ET%JQ efdirau

arQodady ?

a. fh%o, :}dﬂsﬁé, wlhrhdes

b. zaeer, Sred u!{)‘éae, Far2d uﬁs“{sb

¢ ardurgdas, 6, W5ogs

d. Hgbd-abo, aﬁ‘gﬁé, wEogd

(1) d&¢c (2) a&b

B) cka (4) b&d

126. Consider the following statements :

a. Capital output ratio indicates the number of
units of capital required to produce one unit
of output.

b. Capital output ratio refers to productivity of
capital of different sectors at a definite
point of time.

c. Along with national savings ratio, capital
output ratio can determine the growth rate
of national income.

d. The GNP growth rate is proportionately
related to capital output ratio.

Which of the above statements are correct ?

S08 agugu HadoSod.

3. ¥ dbrdS asyBed) asyd Jabens
uﬁﬁ&&dﬁs Srode  dirdd  Dowgd
Arudt -adya TNna Bboﬁné".;noﬁ.

b. 2f Uhdbos® I Sorre Awredd
GeBEEy  wreds - 4dyS :J&ag
8eodydod.

c. w=aad D&Y WIS I wWrudd -
4833 3 wradrorad )8 T
:Bga:::‘_..noﬂ

d. frudd - a8)3 Nnd& Yo =-dd a sy
)8 3t sdrd DowogR) SO0 doiod,
L argpged’ 2D WTRD ?

(1) a,b&¢c (2) b,c&d

(3) c,d&a (4) d,a&b

Series-AB
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127.

Consider the following statements :

a. Economic growth is confined to small
portion of population.

b. In terms of use of capital and modern
technology, marginal disparities may exist
between developed and underdeveloped
countries.

¢. Economic disparities between developed

and wunderdeveloped countries have
increased.
d. There is wide spread poverty in

underdeveloped countries.
Which of the above statements are correct ?
208 a‘sg.laufcn Anodod :
a. zardt 6 )8 €8 s Y
S0,

b. fwredno, ©IE I8 OIS
womofow Gﬁ‘-'ia% Sods, ui}b;g Doda

dre iy ourodw  Svbrmgon
Soduni)).

B 6P5)8 Jo8h, Josd dwe Doy «0E
woarades LOMa.

d. D58 3080 dves’ LSdSo wdfom
aodvod.

’:._Ja-gmgbe.‘?‘ :)3:.@‘3):)?

{1) a,b&¢c (2) b,c&d

(3) c,d&a (4) d,a&b

Which of the following are related to ‘Hindu rate
of growth’ ?

a. Agricultural growth rate

GDP growth rate

b.
c. Average annual growth rate of about 3.5%
d. Gross capital formation growth rate
208 T8S* ‘Irodr 58 e’ % Dowofodd
e o
a. Sghdrab )8 dén
b. wre 3-':’63-638 )8 d&
P — =1
. Wilwd b )8 de WwdrdH 3.5 Tdow
ol Telnl-15]

d. ‘é}:‘b s Sy ib.)g dén

11)
3)

a&bonly/am@ad (2) b & conly/am@d
c&donly/arEd (4) d&aonly/amEd
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131.

203

Amaong the following, which are the major causes
of underdevelopment ?

i.  Poor per capita income

ii. Capital deficiency

iii. Underutilized man power and natural
resources _

iv. Traditional technigues of production

(1) iii and i only

(2) i, iiand ivonly

(3) i, ii, iii and iv

(4) i, iii and iv only

SSerindards 308 8" JD [Lovh s¥ares ?
. e éﬁ:a_‘.‘: S0 varabo

i, Dol Sy

iii. =R Wb, Ve e vuy sArNE
P DoRarad adyd :.gm

il SoBcn | am| &

i, i 08aty iv &rED

i, i, iii wBd iv

iv.
{1)
(2)
(3)
(4)

Amartya Sen received Nobel prize in economics
for his contribution to the

(1) International Economics

(2) Welfare Economics

(3) Indian Economy

(4) Industrial Economics

u‘ém_%‘f.ﬁ b~ 8%  words lowofod

ugvl‘;.goé‘ S8 pireha oot ?

(1) sodgaah sgT0

(2) DoES ugr"..__Jjo

(3) w88 g8 ug5%

(4) *BrDE ugr‘go

Human Development Index Iis calculated
combining the per capita GDP plus expected
years of schooling plus

(1) Population rate

(2) Child mortality rate

(3) Per capita food consumption

(4) Average life expectancy
] “%39 DD Boubernd dul8 ‘.;p-e.p

dﬂdhéag:), ac'sﬁoﬁoé‘a ﬂ‘&nzd ‘;.;,u-e; am'sgac..-
P SlHobr 808 TdSt 3D 8K &8
8858y dotwobd.

(1) =~y 3k

(2) %% D8ere &

(3) Db eS8 DarHo

(4) View walvgrabo
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132.

133.

In developing countries, if the income level is
low, the propensity to consume will be high and
as a consequence, capital formation will be

{1) wvery high (2) marginally high

(3) low {4) constant .
6PH)E Do) daed® uorad v S&ndm
ao8 Nard @H)8 whSor Gowod. @
SBgRIROMT et SuyR 2 Jfone aotwod ?

(1) (2) o don wfSo
(3) BeNo (4) Egdo

orer ebHSo

Among the following, which ane is an essential
characteristic of mixed economy ?

(1)

Co-existence of capital goods and consumer
goods

(2)

Co-existence of labour and capital intensive
techniques

Co-existence of urban and semi-urban areas

Co-existence of public sector and private
sector

208 8t i vDE LgEpl DB esgius
im0 dotnod ?

(1) freds Sobes, DG Sabes SO0
agoddo.

(i D088, turudh FoSS Lo SO
seas” doddo.

Dhm, D - Dho | Droeres LOD doddo.
(ehe, 198 Sorres L0 LOTabdo.

(3)
(4)

(2)

(3)
ka)

‘Trickle down effect’ refers to that economic
growth

{1) which brings a few benefits to the poor

people

which needs to be controlled by the state

which needs delivery systems to bring

benefits to the rural poor

(4) which delivers benefits to the entire society

‘S08 Jrap HEH @ardo’ [Derdorr B80avE e

e ?

{1) ugé ﬁgg o {h] £ [Radrzares U088

WSe0808 voldo.

egé ‘.‘.)J%.'J l‘_:’.}e;ﬁéso Qdbo(Bosdo.

uds B RareTw [Tae e 3as

3058 oo uwdldo 4ob.

sl 28 |([wdrzdrw Jarzo  dvgrds
L =] -

sododido.

(2)
(3)

(2)
(3)

(4)
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135. If savings ratio is divided by the capital output
ratio, we derive

(1) GNP growth rate

(2) Per capita income growth rate

(3) Population growth rate

(4) Disposable income growth rate

SEY WD Lrads ady8 ANH3E Y

h‘.‘g& 2anes 7

(1) e Sl Ton B )8 oo

(2) #eb wordd b;g g

(3) = 9)8 Gl

(4) Sgovrg worad BB dev

136. The unemployment in underdeveloped countries
is mostly one of the following :

(1) Urban unemployment

{2) Disguised unemployment

(3) - Open unemployment

(4) Educated unemployment

SEudd drest Ddaﬁ‘ahé 808 Ssred® dom

4oénod ?

(1) ‘f.xam :ﬂﬂﬁ‘sﬁé #2) l‘pﬁablaﬁﬁ'sﬂﬁ

(3) w&8od Ddﬂshé (4) Dorgabe Dd.ﬁ'sné

137. Chiid sex ratio may be defined as :

(1) The number of boys aged 0-4 years for
every 1,000 girls in the same age group.

{2) The number of boys aged 0-& years for
every 1,000 girls in the same age group.

(3) The number of girls aged 0-4 years for every
1,000 boys in the same age group.

(4) The number of girls aged D-6 years for every
1,000 boys in the same age group.

26 dod WDV 808 ¥t B Psdo

Msh'oﬁ‘éaﬁ:‘:, 4

(1) %dgo oD 4 :)Q'J Safny 1S He 28
Sapg ol rO¥uH ed DHaily Lﬁrf)é"
aod wreod ‘.’ooq.ls.

(2) ®Rgo oD 6 .'D#‘J Sabiny (oo de (D8
Saxg Dod wrd¥ed od Sailny (rodt
a0d eread Lowyg.

(3) Hrdgo ®oDd 4 D#‘) Sabipy (0D He @28
Sovg Wod wrenddH o Hoby (ot
803 D5 Vowg.

4 drgo wod 6 :)#a Satdey (5 He 08
Sovg o wrenddh od Sakiny (oo
a0G D Dowg.
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138.

139.

140.

141,

Consider the following pairs :

a. Calendar year —January to December

b. Financial year — April to March

c.  Kharif season — October to September

d. Academic year — June to May

Which of the above pairs are correctly matched ?
808 zdo fadoSod.

a. s*codb :1055360 - 250 how dwowd
b. D8 DosE 80 - IR WoW w8

c. pbd seo- uE‘mE oD Wyoud

d. darg DobdyBo — 2ms wod

:._JM DD Y d%‘ﬂ' aaum{‘f.ﬂﬁ‘ml‘:aﬁ) ?
(1) a,b&¢c £) b,ck&d

(3) c,d&a {4) d,a&b

Which among the following are relevant to national

income ?

a. Adding all transfer payments

b. Adding all values of goods and services produced

¢ Adding all payments made to all factors of
production

d. Adding all incomes generated

808 o>8S° a:z-éoﬁ-n'oﬁ'.'\h’ orbEs

Lelibetd wores J 7
a. o) 28b 3VoPeH Sedio.
b. 6833 Ji5 o) Halbe desdd Suddo.

C. o) ad)B sEsmud Do u) DY Sako,
d. YBodSwis ed) uvordru Suko.

{1) a,b&c {(2) b,c&d

(3) ¢c,d&a (4) d,a&b

The National Income committee was constituted
by the Government of India in 1949. Who of the
following are its members ?

a. Professor P.C. Mahalanobis

b. Professor D.R. Gadgil

c. Dr.B.R. Ambedkar

d. Professor V.K.R.V. Rao

1949 &* 58 ExhSeod Fhodedd ‘= Sdrordd
£ &° Bod a0t "m;bsc.o ol 7

a. eodg b LiruSD5

b. uﬁ'ﬁs 4.eb, mﬁ.d’

c. G D.eb. unﬁda_&

d. wodg 2.35.66.2. 09

(1) a,b&¢c {2) b,c&d

(3) c,d&a (4) d,a&b

The national incomé in India is calculated mainly
through which methods ?

a. Income method b. Output method

¢. Expenditure method d. Exchange method

P 88340S" erdaroralrd) (Lo O Mo

orgor S5 5 ?

a. woageab @a , b. dé:)g ::ga
c. wgab :xga d Ooad :;ga
(1} a&b (2) b&ec

(3) c&d (4 d&a -
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143.

144,

145./
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The share of secondary sector in the GDP during
the period 1999-2000 to 2013-2014 has shown :
(1) Higher increase (2) Marginal increase
(3) Marginal decrease (4) Higher decrease
1999-2000 %o 2013-2014 L8% fe sreodt e
SRGIr338C" Bgacd Solf rird® Mubod &y
=BRcA 7
(1) udEVhSe A2) aradrEl) OHSe
(3) a":hua‘m'@izg é.:ixﬁgﬁ (4) wbE érjﬁu
NNP for the current year x

Base year price index
Current year price index ~
(1) Per capitaincome (2) Gross national product
{3) Real net national product (4) Real disposable income
8 a8 = 8@DEPY  werd
VoLEEY e o8 w)ed  ([@pd
VoDEVEY Sde D8 2 AD D Trod ?
(1) &0 sorabo
f;n':. z‘écﬂ'é‘;}g
(3) @0g 088 as-écﬁs-é;lg
(4) a8 égdb'g uorabo
Among the following statements on national
income, which one is correct ?
National income mainly includes :
(1) Rent, taxes, pensions and subsidies
(2) Public sector expenditure, elections

expenditure and judicial expenditure
(3) Rent, wages, interest and profits
(4)

Double counting, transfer payments, debts
and imports
arSdirarabod Ko 808 Fdmuc® I8 LT ?
(1) ar8afrorabod” 3w, e, Dol
2Dydes erKom aotran.
(Pfds Borf Bgabo, dnSe Hgcho, argadd
s Sgabo 2 8abrarabod® g o dodran,
e3e, Hémres, DG,
= 8dirordbod® erfom dotran,
Soth B SE oo, 200 3D, Wirped,
Briodes e Sdardbod’ o aotra.

According to Ragnor Nurkse, most of the
underdeveloped countries have been caught in the :

(1) Vicious circle of poverty

(2) Excessive demand

(3) Productive investment

(4) Export of secondary sector products

orrmb 26 [Ps 8o Swdwdd oot S 308

S8t J Do Uhsgts HOE% otamyan ?
(1) w0 e dbres

6} whE 450l

(3) aemsE Lwd

(4) Ogd0H ol a8 yde Iiked

(2)
(3)

oy

(4)
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148.
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150.

Among the following five year plans, the highest
annual average growth rate of per capita income
at 1999-2000 prices was achieved during the :

(1) Eleventh Plan (2) Eighth Plan

(3) Seventh Plan (4) Ninth Plan

508 Bodng [.’:miisc.cﬁ" 1999-2000 vodéYEY

S8u<® duDb vordd Jesd ity ‘ng 3t
Qe 0ES® wdgdEom Gob ?

(1) 115 @®0%  (2) 85 D08

(3) 79 Dm0 [4) 99 D0

Among the following”organizations, which one
estimates the national income in independent india ?
(1) NITI Aayog

(2) Planning Commission

(3) Finance Commission

{(4) Central Statistical Organisation
Jgdolerghods u'dég-‘ioé' ardafrorairdy

of o I"
wodSar ?E_n‘bluog (208 o85*) 28 7
(1) 8 esaref (2) (D@5 Dod20
(3) D¢ Dospo (4) Sofch ferofady
In which of the following kind of taxes, the tax
rate increases as income increases !

a. Proportional Tax b. Progressive Tax

c. Regressive Tax d. Highly Progressive Tax
(1) aandb (2) bandc

(3) candd (4) bandd

& 308 D S5O Vied® uoraho DONSIPE

iy G WEibEod ?

a Fnasi&y b EmDdOY .

c. aﬁ‘m:hiﬁnl d. eb¥ gﬁ‘m:h‘&!hul
{1) asbBalwb (2) b%bBabc

I3) cbaind (4) bbcnd

By deducting growth rate of population from
growth rate of national income, we derive :

(1) Growth rate of per capita income

(2) Growth rate of real income

(3) Growth rate of disposable income

t4) Growth rate of NNP

wr8ofrarad H)0 I wod e B)0 T

é-'-i’}"g O3 rodhuo ?

(1) Sed vorabd D) Téw
(2) &8 vcrad B)8 dé
(3) ﬁsn‘.ﬁ-g weordd ﬁa% dén
(4) D88 araGdE8 D)8 S

The personal income which is left with the individual
after payment of all direct taxes is called as :

(1) Disposable income (2) Per capita income
(3) Real income (4) MNational income
28 o8 (Lgbergl8 &5 wordbo wod) 3DoorBye

(g Do asdadr AT g8 wordirdy
sotrd ?

(1) Sgabg sarabo
(3) a8 sordbo

(2) S8 vorabo
(4) erdab scrabo
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